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813���3HULODNX�EHODMDU�PHUXSDNDQ�VHJDOD�EHQWXN�SHULODNX�\DQJ�DGD�GDODP�SURVHV�
SHPEHODMDUDQ��3URVHV�SHUNXOLDKDQ�GL�SHUJXUXDQ�WLQJJL�MXJD�PHUXSDNDQ�SURVHV�GDUL�
EHODMDU�\DQJ�GLMDODQL�PDKDVLVZD��0HGLD�SHPEHODMDUDQ�MXJD�FXNXS�EHUDJDP��6DODK�
VDWXQ\D�DGDODK�SHQJJXQDQDDQ�WHNQRORJL�EHUEDVLV�LQWHUQHW��

,QWHUQHW� GDSDW� GLDNVHV� PHQJJXQDNDQ� VPDUWSKRQH�� 0DKDVLVZD� \DQJ�
SHFDQGX� VPDUWSKRQH PHPDQIDDWNDQ� NHDGDDQ� LQL� GHQJDQ� EDLN�� 0HUHND�
PHPDQIDDWNDQ�VPDUWSKRQH XQWXN�KDO�\DQJ�EHUKXEXQJDQ�GHQJDQ� SHUNXOLDKDQ�GDQ�
MXJD�KDO�\DQJ�WLGDN�EHUKXEXQJDQ�GHQJDQ� SHUNXOLDKDQ��.HWHUJDQWXQJDQ�PDKDVLVZD�
WHUKDGDS� VPDUWSKRQH PHQLPEXONDQ� SHULODNX�SHULODNX� XQLN� GDODP� SURVHV�
SHUNXOLDKDQ�GDQ�PHQDULN�XQWXN�GLNDML��

3HQHOLWLDQ� LQL�PHQJJXQDNDQ�SHQGHNDWDQ�NXDOLWDWLI��7HNQLN�SHQJXPSXODQ�
GDWD� GHQJDQ� ZDZDQFDUD� GDQ� REVHUYDVL�� 'DUL� KDVLO� SHQHOLWLDQ� \DQJ� GLODNXNDQ�
GLNHWDKXL� EDKZD� WHUGDSDW� EHEHUDSD� SHULODNX� EHODMDU� \DQJ� GLPLOLNL� PDKDVLVZD�
SHFDQGX� VPDUWSKRQH \DLWX� NHELDVDDQ� PHPLOLK� WHPSDW� GXGXN \DQJ� VWUDWHJLV��
SHULODNX� DIHNWLI WHUKDGDS� GRVHQ� WHUWHQWX�� SHULODNX� PHQ\LPSDQJ� PHQJJXQDNDQ�
VPDUWSKRQH VDDW� SHUNXOLDKDQ�� PHQJXWDPDNDQ� VPDUWSKRQH GDODP� PHQFDUL�
LQIRUPDVL� GDQ� PHQ\HOHVDLNDQ� WXJDV�� SHULODNX� GLVLSOLQ� PHQ\HOHVDLNDQ� WXJDV�� GDQ�
EHUILNLU�PHQJKDGDSL�XMLDQ�GHQJDQ�MXMXU� +DVLO�SHQHOLWLDQ�WHUVHEXW�GLDQDOLVLV�GHQJDQ�
PHQJJXQDNDQ�WHRUL�7LQGDNDQ�6RVLDO�GDUL�0D[�ZHEHU�
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